EARAROBEEIERT — 2 N— IBISH —F

2018558208 (H) 2EIEER5H

Pl C 2 At 95 R—K BN
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 44 | LUAREAE 1:14.9 6-5 37.2| — 1 457 | FREEFIAR (KIR)
1Ry 4| 7FF—Ta 54.0 g o | B FAERL-z e s
¥ JANZN B:ALZXRy T4 HiSH%
o = s 5 | AKIBE 1:14.9 1-1 38.0| — 2 442 | =EHEE (KR)
2|8|10| A¥—ALT 1 54.0 (") Ca |1
L:J147 h7—IWEY B LT sv—lARO EBRT7—L
. o6 | BAB 1:15.3 7-2 37.6| — 5 433 | RREHVEA (BERE)
3177 RARILFF A51.0 (2 1/2) +1) HEEE
L:IZX¥+ XN B:IAF3IY pelrie]
N . EAATE : - — 1EEHEZ (KR)
4l5|5|4>vrreDTs G s A S S |EEmE
R:hTA=Z2T BEg o T T~ "HBET7— L4
N NN . ERRTE :15. — . - RIREF (KR
578 G1Y—2J—R % 7 5_0 1(115)6 8-7 37.5 8 ig;t Smn
LNAT ==L B:XF—7)—-X> fisike]
LTS 4 5 | FIXE 1:15.7 4-3 85| — 3 493 | ERAS (KR)
6l111|F>&—=TFZR+b 56.0 1/2) o |EEES
Rihzxexy BAALTIRTE— SR
_ A ENE 5. " . — ERAS (KR)
4 3 FIREEE RN R R o 10 ff) BB
LN—ErTvy— B:HIIILTLZR B2 &y b
9 TR — : — — NFEEAE (%)
glglg| h—a—Un-2 H 6 Ll 1.(166).6 5-6 39.2 9 ;1_532) %EE%
RN—E>Sr— BRI 471—X J—HrTrp—L
N N R SR AR :16. — . - RIIREF (KiR)
o6 #2727 n—v- e | o poe |2 mal o | ] e MR
L:7A7% B:714—-IKYLF— (B) HBEa-KL—-—ra>aEI7
o9 S, INHRiE 7. - . — BAAIER] (KiR)
10 s | VrrvrIqE # 10 s 1 (167)5 10-10 | 37.8 7 g; ;,%'E?%?—
R:bTA=2T BN-E-F1Ek B4
® 1—F—@EBIERL
13—7-—
2a=5"=
30—4— 10,6,5,1,9,4,7,8,3,2
40—F— 10,7,1,5,4,9,(6,8),3,2
[ N5
BB 4 20| | 714 K 4-10 180F9 | | # & 4-8 4201 | | =R 4-7-10 2,330M
B B 4 1204 4-7 520M B = 4-10 560M JEE 4-10-7 6,590
10 180H4 7-10 1,040H B H 4-10 560M
7 250M

ABICOVWTRDTEEERROODE. TR LIV,




